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Challenge 1
There are 7 ones.7x 1=7
There is 1six. 1x6=6

There are 4 plates. There is 1
banana on each plate.

Altogether there are 4
bananas. 4 x 1 = 4.

4x1=4 7=1x7
0=0x42 63x1=63
0x27=0 50x 1 =250

Challenge 2

3%0=0is fhe odd one out
because itis the only one
with 0 s the answer. The
addition and subtraction
calculations have an answer
of 3because they started
with that amount and
added or subfracted 0
(nothing). 3x 0 means ‘3 lofs
of nothing’, so the tofal is 0.

Challenge 3

Incorrect:
5x0=50
7x0=7
1x1=2
0x0=1
1x8=9

Corrected:
5x0=0
7x0=0
1x1=1
0x0=0
1x8=8





